
SAP ABAP table N1LAPP {services without case or movement reference}

N1LAPP

MANDT [CLNT (3)]

EINRI [CHAR (4)]

NRN1LAPP [CHAR (10)]

LNRAPP [CHAR (10)]

HAUST [CHAR (2)]

ERBOE [CHAR (8)]

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]
 N1LAPP-ERBOE = NORG-ORGID 0..N

1

T000

MANDT [CLNT (3)]
 N1LAPP-MANDT = T000-MANDT 

0..N

0..N

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N1LAPP-EINRI = TN01-EINRI 

0..N

1

TNK01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

KATID [CHAR (2)]

 N1LAPP-HAUST = TNK01-KATID 

0..N

1


